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Diagnosis Test For 12tth Students
139 (E)

Stander :- 11" Subject :- Sociology

Time:- 3 hours Maximum mark :-80

Instructions :-

1) This Questions Paper consists five [A,B,C,D,E]
sections.

2) This Questions Paper consists 31 Questions.

3) Figures the right side indicate full marks for the
questions.

4) Answer the Question according to the instructions.

5) All Question are compulsory there are internal options

Section -A

Question-1 In the following questions choose the right options

Answer the questions. Each question carries 1 mark [15]
(1) Mention the Name of the Founder of sociology ?

(A) max weber (B) Auguste konte (C) Karl Mark (D) Herbert spencer
(2) Which book is World Famous of Karl mark

(A) Das Capital (B) Positive philosophy

(C) Division of sociology (D) Elements of sociology

(3) What Kind of a sociology ?

12



(A) Physical (B) Natural (C) Social (D) Historical
(4) What kind of status do the teachers have in present time ?
(A) Finished (B) Ascribed (C) Non Ascribed (D) Achieved
(5) Who compared human society with organism ?
(A) Herbert spencer (B) Auguste konte (C) Karl Mark (D) David Puacar

(6) Which of the following is not the sub-group of India ?

(A) The Rajasthan (B) The Japans (C) The Gujarat (D) The

Maharashtra
(7) In which Group is direct cooperation at the centre.
(A) Arban (B) Tarciar (C) Primary (D) Secondary
(8) Which technique is studies human sociology factor according to
Young and Make ?
(A) Religion Factor (B) Social (C) Economical (D) scientifical
(9) What Makes The society alive and Active ?

(A) Group (B) Social Process (C) Social relation (D) Social activate

(10) What is known as medium of communication ?
(A) School (B) village (C) City (D) Television
(11) Who accomplisher the fundamental work of socialization in all culture
Of the world ?

(A) School (B) mass- media (C) country (D) Television

13



(12) Who is following included in non material culture ?
(A) Language (B) Food (C) Clothing (D) Means of transpiration

*(13) Which Society is Accepted marriage as a SANSKAR(Sacred)

Ceremony?
(A) The yahudi (B) The Hindu v (C) The parasi (D) christian

(14) In which year was the hindu marriage act enacted ?

(A) 1956 (B) 1947 (C) 1955 (D) 1960
(15) How are decisions taken in Nuclear family ?

(A) By head of the house hold (B) One sided

(C) By mother (D) Unani mously
SECTION- B

Question-2 Answer the following questions in one-two Sentence. Each

questions carries 1 mark [09]

(1) In which University did sociology commence firstin INDIA ?

(2) State the Norms that Emerge from the natural course of
behaviour and practices ?

(3) Give any Examples of structure.

(4) What aspect of status is social role?

(5) What is Horizontal mobility ?

(6) Which kinds of atmosphere assume importance in child’s relation
with friend ?

(7) What is culture ?

(8) In which first stape considered to Family Institute ?

(9) Which type of depended living together family ?
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SECTION - C

Answer the following Questions in two - three lines any 10 questions

Write shortly. Each Questions carries 2 mark [20]

3.

4.

10.

11.

12.

13.

14.

15.

16.

Define of Sociology ?
Give the four names of scholars who contributed toward

Development of sociology in Gujarat ?

. Where do non-human being live symbolically ?

Give four example of cast of India ?

. What two community criteria has Kinsley Davis demonstrated ?

. The concept of group and sub-group is relative Give and

Example and understande ?

. What are the four functional needs of social structured by parken

AGIL model ?

Define the social arrengment by soariki ?

What is social Interaction ?

What are two types of cooperation ? who gave it ?

Give the definition of socialization given by Kingsalay Davis?
Describe mediums of communication any four ?

What is Monogamy ?

What is matriarchal family ?
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SECTION - D

Answer the following questions from 17 to 26 to the point any 7

questions Each questions carries 3 mark. [21]
17. Explain Development of Sociology in India ?
18. Explain relation of between sociology and psychology ?
19. Write a note on cast system of India ?
20. Define Social Control and Explain its features ?
22. Discuss conflict as a from social interaction ?
23. Explain the types of culture ?
24. Explain the main two types of social mobility ?
25. Explain the difference Joint family and Nuclear family ?
26. Explain the Homologous, Hypergamy, and hypogamy marriage
System.
SECTION- E
Give detailed answer of the following Questions. Write any 3
Questions. Each Question carries 5 mark. [21]
27. Explain the Meaning of sociology and social features.
28. Explain the social structure by AGIL Model.
29. Describe the features of social changes.
30. Explain the socialization agency and describe any two

31. Describe the meaning and features of social institute.
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